Jaroslav Stun
Slovakia

ORTHODOX
CHESS
PROBLEMS

Orthodox chess problems of categories: mate
by the 2™ move, mate by the 3™ move and
mate by the n-th move.



Orthodox chess problems

Gazeta Czestochova 4.4.1984
Problem No.3194
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Try:
1.Bebxd5 + ?
but 1...Ke4-f5 !

1.Sc4xd2 +?
but 1...Bc3xd2 !

Set Play:
1....f5 [a] 2.Bxd5 [A] #
1....Be5 [b] 2.5xd2 [B] #
1....d4 [c] 2.Qcb [C]#
1....Se5[d] 2.Sd6 [D]#

Solution:

1. Sd3! [2. Sc5#]

....5xd3 [e] 2.Bxd5[A] #
....Bd4 [f] 2.Sxd2[B]#
....dxc4 [g] 2.Qc6 [C] #
....Kxd3 [h] 2.S5d6 [D] #
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Pravda 26.4.1985
Problem No.1674
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Reproduction:
Vl.album csl. chessproblems 1985-1987
Bratislavsky vecernik, Problem No.62

Try:
1. Rf4 2+
1...Bed[a] 2.Rxe4 [A]#
1. ... Ke5 2.5c4 #
but 1. ... gxf4!

1. Rf3? [2. Sc6 # [D] ]
1....Bed4 [a] 2.Sb5[B] #
1....Bxg8 [b] 2.Rd3 [C] #
1....S5e3 2. fxe3 #
but 1. ... Se5!

1. Sb5 ?+ [B]
1....Kcd 2.Rf4 #
but 1. ... Ke4!

1.Sc6 ?+ [D]
1....Kd5 2.Rf5 #
but 1. ... Kd3!

Solution:

1. Re7! [2. Sb5 [B] #]
1....Bxg8[b] 2.Red [A] #
1....Bd3 2.5c6 [D]#
1....Se5 2.Bxe5#
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Orthodox chess problems

Pravda 22.2.1985
Problem No.1654
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Set Play:
1....Rxf3[a] 2.Qxf3[C]#
1....Rd4 [b] 2.Sxc3[B]#
1....Bd4 [c] 2.Sxc7 [A]#

Try:
1. Qh37? ad lib 2. Qeb#
but 1. ... Rxf3 [a] !

Solution:

1. Sf5! [2. Se7#]

1....Rxf3 [a] 2.Sxc3 [B] #
1....Bc5 [d] 2.Sxc7 [A] #
1...Sxd7  2.Sfda#
1....Sxf3 2. Sfde6#

Vychodoslovenske noviny 15.11.1985
Problem No.1122
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Try:
1. Bb57? [2. Se2 [A] #]
1...Sd3[a] 2.Rc4 #
1....5c3 2.Bc5 #
but1....Sc4!

1.Rc2?[2.Bc5 #]
1...Sd3[a] 2.Se2 [Al#
but 1. ... Sc3!

1. Bb4? [2. Rd6 #]
1...Se3[b] 2.Bc3[B]#
but1...Sd3[a]!

Solution:
1. f4! [2. Bc5, Se2 [A]#]
1....Sd3 [a] 2.Rxd3 #
1...Se3 [b] 2.fxe3 #
1....exf4 2.Bg7#
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Vihorlatsky strojar 14.9.1984

Problem No.3.2.

Orthodox chess problems

Mat-Pat Martin 11/1987

Problem No. 407

2° T.T. Mat-Pat C 30.6.1986
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Set Play:
l...e6 2.5f7#

Try:
1.Sc2? [2. Re2 #]
1....Bxh6 2. Qxe7#
1....Bxc2 2.Qc3 #
but 1. ... Rc5!

1. Rxd7? [2. Bc3 #]
1....Rxd7 2.Sc6 #
but 1. ... Sxd7!

Solution:

1. Rd6! [2. Sf7 #]
1....exd6 2.Bc3 #
...Sd5 2. Rxd5#
.. Kxd6 2.Sc6 #
..C3  2.5d3#
... fxg3 2. Bxg3#
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Try:
1. Ka8? [2. B~#]
but 1. ... Rg8+!

Solution:

1. Ka6! [2. B~#]

1...Rf7 2.Bf2 #
..Re7 2.Be3 #
..Rd7 2.Bd4 #
..Rc7 2.Bc5#
.. Ra7+ 2. Bxa7#
..Rh7 2.Bh2#
..Rg6+ 2. Bb6 #

I N N =




Vychodoslov. noviny 13.1.1984
Problem No.1013

Orthodox chess problems

Pravda 12.10.1984
Problem No.1607
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Try:
1. Qc4?
but 1. ... Bb1!

Solution:
1. Qb3! [2. Qf7 [3. Qg6#]]
2....5f8 3. Rxgh #
... Sf8 2. Rxg5+ fxg5 3.Qf7 #
...fxe52.Qf7+ Sf6 3.Rxg5#
...C5 2.Bxe4+Kxe43.Qd3 #
...Bd5 2.Qd3+ Be4 3.Qxd7 #
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Solution:
1. Qg7! [2. Sc3#]
1....Re52.Qd7+Ke4 3. Bg2 #
1....Re6 2. Bg2+ Re4 3.S5c3 #
2.... Kd63.Qxc7#
1....Be5 2. Qf7+ Kd4 3. bxc7 #
1. ... Bd6 2. Sc3+ Kc6 3. Qxc7#
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Orthodox chess problems

Pravda 17.12.1982 Pravda 23.1.1970
Problem No.1388 Problem No.335
original correction
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Set Play:
1....5f5
Solutions: 2. e4 Rxe4d
3. Bfl+
l. 1. Rd4! 3....Rc4 4.Se6 ad lib. 5.Sxc7 #
1....cxd4 3....Re2 4. Bxe2+ Rc4 5.Bxc4 #
2. ¢5 [3. Sca#]
2....dxc3 Try:
3. bxc3 ad lib. 1.Se6? ad lib 2. Sxc7 #
4.Sc4 # but 1. ... Rc4!
[1....Rg7? 2. e4 Rxe4 3. Bxe4!]
11.1. Bf3! 2.e4 Se2! [2....5f5? 3. Bf1!]
1....gxf3
2.Rd3f2 1. Bh3? [2. e4 [3. c4#]]
3. Sf1 Ked 2....Rxe4
4. Re3# 3. Bd7+c6
4. Bxco#
1....5f5
2. e4 Rxed
3. Bfl+
1....Sxe2
2. c4+ Rxc4
3.Bd7+
but 1. ... Rg7!
Solution:
1. e4! [2. c4A#]
1....Rxe4d
2. Bxe4 Rxe4d
3. Seb (till now) Rc4
4. Bc5 Rxc5
5.5d4 #
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Orthodox chess problems

Pat a Mat No.52, 3.2006
Problem No. 1027
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Try:
1.Re4-h4 ? threat:
2.Rh4-h8+ Se7-g8
3.Rh8xg8 #
but 1....Ke8-d8 !

1.Re4d-a4 ? threat:
2.Ra4-a8+ Se7-c8
3.Ra8xc8 #

but 1....5e7-c8 !

Solution:
1.Re4-b4 ! threat:
2.Rb4-b8+ Se7-c8
3.Rb8xc8 #

1.... Ke8-f8

2.f5-f6 Se7-c8
3.Rb4-h4  Kf8-g8
4.f6-f7+  Kg8-g7
5.Rh4-h8 Kg7xh8
6.f7-f8=Q+ Kh8-h7
7.Keb6-f6 ~
8.Qf8-g7 #

1.... Ke8-d8
2.d5-d6  Kd8-c8
3.d6xe7 Kc8-c7
4.e7-e8=Q c6-c5
5.Qe8-d7 #

1....Se7-c8
2f6 or d6
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